Copyright FCI. F '

6 7 8
|
REFERENCE SPECIFICATIONS
-NFC 93425 (in compliance with HE 5071) Series ~
A
PHYSICAL CHARACTERISTICS
B — B —
-INSULATOR MATERIAL: THERMOPLASTIC UL94 V-0 Shell size: EABCD
-CONTACT MATERIAL: PHOSPHOR BRONZE see sheet 2
GOLD OVER NICKEL Front accessory definition —
see sheet 2
Blank :wifthout accessory
-ACCESSORIES: BRASS,cadmium plated yellow passivation E floati T'
:Ttoaring mounting
-SHELLS: STEEL.cadmium plated yellow passivation )
L :threaded insert M3 B
ELECTRICAL CHARACTERISTICS 0 fhreaded insert UNC 4-40
-CONTACT RESISTANCE: <= 7.3 m ohms I female screw M3
-EONTAET/EONTAET >=1000 V [OﬂTaET ﬂUmDeF (See Sheet 2) —
-CONTACT/GROUND >=1200 V 915253750
-INSULATION RESISTANCE: >=5000 MOhms Contacts
ENVIRONMENTAL CHARACTERISTICS S
Socket C
- CLIMATIC CATEGORY: 55/125/56
TEMPERATURE RANGE -55°C TO +125°C Plating
DAMP HEAT STEADY STATE 56 DAYS Blank :solder buckef 500 maffngs/unmaffngs
CALT SPRAY 16 HOLRS 043  .solder bucket 500 matings/unmatings
for harsh environment
MECHANICAL CHARACTERISTICS
- RETENTION AGAINST TORQUE: - Threaded insert: 0.7 N.m minimum
- Female screw : 0.5 N.m minimum
D
£
25 WAY for Example
surface - tolerance std projection
www.fciconnect.com 1S0 1302 M 1S0 406 150 1101 mm
TOLERANCES UNLESS OTHERW ISE SPECIFIED @ E}
Dr |M PESSON 2006/11/14 ANGULAR 0.X 0.3 size Scale
CRCIICE M“;E ZOOT/TVM Eng |P LEGARE 2006/11/14 LINEAR | oxx 0.1 A2 21 F
~ thr |P LEGARE 2006/11/14 S 0.XXX £0.05 ECN 1507-0273
g t:z;g;;z :;E Zz(())?);jgggg Appr | P LEGARE 2006/11/14 Product family - | Spec_ref s
D_[F10-0072 | LSA | 2010/07/20 « SUB FEMALE DM HES01 series e e
L Cl):° o (01-8637-1733
:% with solder bucket © D
catalog no CUSTOMER |sheet 10f &

7

8

PDM: Rev:D

statusReleased

Printed: Oct 01, 2010




2 3 4 5 6 7 8
&L .7
A - A
& radial gap 0.840.12
410 S A1 I i | |
N - H / - < UL i h = -
S O O o ~N T T (e} o :
+ 1 | -H w0 | | | 94
o | a2 - o - | o | i H
I [ o~
| . ﬂ—g i \ O | © ©
] l ,'\\I' I 'I.\\', _— rrz 24 ! t{ /) ) = B
* | * | f - I
I CD' I |
| ° | |
axial gap 0.2540.15 I
8 #3.10 0.1 f 5
FRONT ACCESSORY : . . L insert M3 V female screw UNC 4.40
without F floating mountin .
Blank Loating mounting 0 insert UNC 4.40 | female screw M3
c shell size Contact number
FRONT x X X C
PART NUMBER ACCESSORY
D*MxxS without E 09
D*MFxxS floating mounting A ’|5
Dx*MLxxS insert M3 B 25
D*MOxxS insert UNC 4.40
D*MVxxS female screw UNC 4.40 C 37
D*MIxxS female screw M3 D 50
D D
FRONT
D*MxxS043 without
D=MFxxS043 floating mounting |
D*MLxxS043 insert M3
D*MOxxS0L3 insert UNC 4.40
£ D*MVxxS043 female screw UNC 4.40 3
D*MIxxSO043 female screw M3
oN
u CROSS REFERENCES HES01 and FCI
= FRONT I
b HES01 P/N FCI'P/N
- ACCESSORY
.f; HESOTNXXAS D =HxxS without www.friconnect.com 'IS;]P:?()EZG -V ISLOEE:BHEEI;'::M projecton MM
§: HE501FXXAS D*‘MFXXS floating mUUn“ng TOLERANCES UNLESS OTHERW ISE SPECIFIED @5
© - Dr |M PESSON 2006/11/14 ANGULAR 0.X 0.3 size A Scale
Eng [P LEGARE 2006711714 LINEAR 0.XX $0.1 21 F
Chr [P LEGARE 2006/11/14 o [+ 0.XXX £0.05 ECN 1507-0273
Appr | P LEGARE 2006/11/14 Product family - | Spec ref
+ SUB FEMALE DM HES01 series 2 Rev.
. = o C01-8637-1733
SCALE:L FS//}' ~ with solder bucket 3 D
— catalog no - CUSTOMER |sheet 2 of &
2 3 4 5 6 8

PDM: Rev:D

statusReleased

Printed: Oct 01, 2010




2 3 4 5 6 7 8
DIMENSIONS  FOR SHELL E,A,B,C
A
Dimensions are in millimeters
— _ ! _ = Sh.ell Numl:ertof A f8'76 B f8‘25 ( 012 |F f8'57 G f8'25 H jg.51
(AR CACACACACACACACS @
LO0P000000009 E| 09 [30.43 [16.21  |26.99 |10.64 6.05 19.02
N | L
B | 5 Al 15 [38.76 2656|3332 |10.64 | 6.05 | 27.25
© B| 25 [52.65 [38.25 [47.06 |10.64 | 6.05 |41.02
- "
O ’ = C| 37 6896 [56.71 163.50 |10.66 | 6.05 | 57.45
m 2 .
- [QN]
(@)} o~
=~ N
| I ) D! ‘
I ; L = i i =
1 | | L@ -
c~
A o
O
O
D 2
[: <
B
7 11.37shell 9-15]
2.74 shell 9-15] So
T o~
=
c~
£ - ram . L
o 0000000000000 @
rd - v &@©@@@@|@@@@@@“
= 1 r_ 0\5 T 1L/
g N
? |2 765"]@[[ 25_37| www.fciconnect.com 'IS;]P:?()EZG -V |stoot(e):ancels§t?101 Dg“% mm
S ' = B Or |M PESSON 2006711714 ANGULAR 0.x 03 |size Scéle
F |138 shell 25 37| tng [P LEGARE 2006/11/14 LINEAR | oxx 0.1 A2 21
— Chr | P LEGARE 20061116 | 0" [22° x| 0.05 ECN 1507-0273
Appr | P LEGARE 2006/11/14 Product family - | Spec ref
= SUB  FEMALE DM HES01 series e i Rev.
scale 3 FS//}' ~ with solder bucket 2 FO1-8637173 0
catalog no CUSTOMER |sheet 3 of &
o 2 3 4 5 6 8

PDM: Rev:D

statusReleased

Printed: Oct 01, 2010




DIMENSIONS FOR SHELL SIZE D (50 CONTACTS)
A
2.76
1.38
\.‘. —_— f——
— @© 4 | [ I —
= [/m
DO DDODDODODDODDODO- Ve
+0)| | ee0e00ebooesocs: | |() -
8 _ Q@@@@@@@@@@@@@@@@@‘ ™
g N |—|\ ! /' ' =
+0.51
a 55.07;
£0.76
66.55°
5 8
¢ N
o o~ —
~ o~ S
_H
O
(@)
y A1 AN 2
< J |
' 1 T
D | - N |
S 3
0 =
c< 52.30 0%
[@\N]
0
E o
ami 4 . ~
(rd 3 |
I Q} gelelelelelelelelelelelelelcleles {3 -
S T CllRRRRREEEEIRIEIECIECICICIEDICIEY
? \ I J www.friconnect.com ?sir:?(fze V ustoot(e):anceus?im Dg“% M
i i e LT B e I VA
Chr |P LEGARE 2006711714 0° |:t?' 0.XXX +0.05 ECN LS07-0273
Appr | P LEGARE 2006/11/14 Product family - | Spec ref
le 3 2 SUB  FEMALE DM HESO1 series g i Rev.
st FS//}' ~ with solder bucket 3 COT-B637-1733 D
catalog no - CUSTOMER |sheet Loof &
e 2 3 4 5 6 8

PDM: Rev:D statusReleased  printed: Oct 01, 2010




